






𝑅𝑡,𝑡+2 = 1 + 𝑅𝑡+1 1 + 𝑅𝑡+2 = 1 + 0.1 1 + 0.2 − 1 =

1.32 − 1 = 0.32 = 32%

𝑅𝑡 = 90 − 85 /85 = 90/85 − 1 = 1.0588 − 1 = 0.0588

𝑅𝑡

𝑅𝑡(2) = 90 − 80 /80 = 90/80 − 1 = 1.1250 − 1 = 0.1250

𝑅𝑡−1 = 85 − 80 /80 = 1.0625 − 1 = 0.0625

𝑅𝑡 = 90 − 85 /85 = 90/85 − 1 = 1.0588 − 1 = 0.0588

1 + 𝑅𝑡 2 = 1.0625 ∗ 1.0588 = 1.1250



2. 𝑅𝑝 = 𝜔𝐴𝑅𝐴 +𝜔𝐵𝑅𝐵 = 40% ∗ 25%+ 60% ∗ −10% = 4%

𝑅𝑚𝑠𝑓𝑡,𝑡 = (90 − 85)/85 = 0.0588

𝑅𝑠𝑏𝑢𝑥,𝑡 =
28 − 30

30
= −0.0667

𝑅𝑝,𝑡 = 0.7391 0.0588 + 0.2609 −0.0667 = 0.02609

𝑉𝑡 = 𝑉𝑡−1 1 + 𝑅𝑝,𝑡 = $1,100 ∗ 1.02609 = $1,180








